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How many personality factors are proposed by Raymond Cattell ?
(A) 05 (B) 14
(C) 16 (D) 08
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gl SO (B) 14

(D) 08

(C) 16
Which of the following is not included in Maslow's hierarchy of needs ?

(A) Physiological needs
(B) Individualism and collectivism

(C) Love and belonging
(D)  Self actualization
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(B Hunger

(A) Achieveinent
(C) Tharst (D) Sleep
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(B) H4

s Lt

(A)  Suetfe

(C) oy
wlogical basis of teaching-learning depends on

The psycl
(B) Course content

(A) Teaching style
(C) Language (D) Socio-economic status
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T, Human development goes on for a lifetime, although two prople are not repial,
but the order of development remains same in normal childeen * Which principle
of development does this statement point to #

iAl  Principle of continuous development

(A} Principle of interrelationshup

(1 Principle of uniform pattern

(D) Principle of general to specific responses

e fawra st aem em k, wuf o sfe s Sl o E, feep ah e

w7 fawra & w9 o @ o ) oo wae fawra & few fagte o s dee
wm bk

(A) & fawrm w fagia B wEw ey W fag

() wuA ufawe & fagta (o) @ A fafere sfemst o fagia

17. Mhhhdmdwmmntmdhuuhhi
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A Ohjectivity of instructiong (B)
() Consistency of scores : ml
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Which of the following is not an example of p

W B ® scr
(C} Draw a Man (D) HHH”-'-
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n A (B) qw*-
Who propounded the theory ufmmm TP

(A} Howard Gardner
(C) David Weschler

w-3fq = fagr= fema R
(A) &S MER

[C) 3T dwwew
According to NCF 2005, the ma
(A)  Training of teachers
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(B) Sigmund Freud

(D) Jean Piaget
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B 90
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28 Which of the following i1s not a

(A] Past expenence (B) Reflection

(C) Imagination (D) Argument
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(A ’F’ ;{94 (B) M GICEGE
(C) o9l (D) F[*

29 Which tests are designed to measure the effects of a specific

training ? i
{A] Personality (B) Intelligence
i(C) Achievement : (D} Creauvity
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(A) Increase in soil erosion 2 ’
l’“ #*
(B] Decrease in soil erosion " 2 )
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139 Water day is celebrated on
(Al 22nd May (B)
(') 02nd February (D)
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141. Following traffic sign indicates
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Which of the following enzymes is present in saliva ? -
(A) Pepsin (B)  Trypsin - waich 4eiEY -
(C) Lactase (D)  Ptyalin o O
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(C) Green house (D) Baserq
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144, The organisation which publishes the ‘Red Data Book' of speciey i
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145. Who coined the term 'biodiversity’ ? | o P
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(C) R. H. Whittaker (D) W. G, Rosen L
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